Instruction for a Tulip

Row 1: Space 7 times, make “of” space 3 times, make “with”, make “of”, space 3 times, make
“with”, space 5 times, make “of” space 3 times, make “with”, make “of”, space 3 times, make
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with

Row 2: Space 7 times, make 1 full cell, make “of”, make “gg”, make “with”, make 2 full cells,
make “of”’, make “gg”, make “with”, make 1 full cell, space 5 times, make 1 full cell, make
“of”, make “gg”, make “with”, make 2 full cells, make “of”, make “gg”, make “with”, make 1
full cell
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Row 3: Space 2 times, make “of”, space 4 times, make “er”, make 8 full cells, make “q”, space
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5 times, make “er”, make 8 full cells, make “q”, space 4 times, make “with”

Row 4: Space 2 times, make 1 full cell, make “of”, space 4 times, make “er”, make 6 full cells,

[YP4]

make “q”, space 2 times, make “of”, space 1 time, make “with”, space 2 times, make “er”, make

[IP4]

6 full cells, make “q”, space 4 times, make “with”, make 1 full cell

Row 5: Space 2 times, make 2 full cells, make “of”, space 4 times, make “er”, make 4 full cells,

[1Pb]

make “q”, space 2 times, make “with”, make 1 full cell, space 1 time, make 1 full cell, make

[{P2)

“of”, space 2 times, make “er”, make 4 full cells, make “q”, space 4 times, make “with”, make 2
full cells

Row 6: Space 2 times, make “er”, make 2 full cells, space 5 times, make “er”, make 2 full cells,

[1P4]

make “q”, space 2 times, make “with”, make 2 full cell, space 1 time, make 2 full cell, make
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“of”, space 2 times, make “er”, make 2 full cells, make “q”, space 5 times, make 2 full cells,

[1P4]

make “q

Row 7: Space 3 times, make “er”, make 1 full cell, make “of”, space 5 times, make 2 full cells,
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space 2 times, make “with”, make 1 full cell, make “q”, space 3 times, make “er”, make 1 full
cell, make “of” space 2 time, make 2 full cells, space 5 times, make “with”, make 1 full cell,

[1Pb]

make “q

Row 8: Space 4 times, make “er”, make 1 full cell, make “of”, space 4 times, make 2 full cells,
space 2 times, make 2 full cells, space 5 times, make 2 full cells, space 2 time, make 2 full cells,
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space 4 times, make “with”, make 1 full cell, make “q

Row 9: Space 5 times, make “er”, make 1 full cell, make “of”, space 3 times, make 2 full cells,
space 1 time, make “with”, make 2 full cells, space 5 times, make 2 full cells, make “of” space

[YP4]

1 time, make 2 full cells, space 3 times, make “with”, make 1 full cell, make “q

Row 10: Space 6 times, make “er”, make 1 full cell, make “of”, space 2 times, make 2 full cells,
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space 1 times, make 2 full cell, make “q”, space 5 times, make “er”, make 2 full cell, space 1
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time, make 2 full cells, space 2 times, make “with”, make 1 full cell, make “q



Row 11: Space 7 times, make “er”, make 1 full cell, make “of”, space 1 time, make 2 full cells,

[{P3)

make “with”, make 1 full cell, make “q”, space 7 times, make “er”, make 1 full cell, make “of”,

193]

make 2 full cells, space 1 times, make “with”, make 1 full cell, make “q

{P=2)

Row 12: Space 8 times, make “er”, make 1 full cell, make “of”, make 3 full cells, make “q”,

66 9

space 9 times, make “er”, make 3 full cells, make “with”, make 1 full cell, make “q
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Row 13: Space 9 times, make “er”, make 3 full cells, make “q”, space 11 times, make “er”,

[{P3)

make 3 full cells, make “q

Row 14: Space 10 times, make “er”, make 2 full cells, space 13 times, make 2 full cells, make

[1P2]

q
Row 15: Make 40 full cells
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